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B.Com. (Part-|y) Examination, 2023

ECONOMIC ADMN[sTRATION AND

FINANCIAL MANAGEMENT »
Paper - 11y @ (AR ) A T

(Banking and Financial System)

e 3 Hours | [ Maximum Marks : 100

(Marks : 2 x 10 = 20)

Section-A
ote - Answer all zen questions (Answer limit 50 words). Each question carries
2 marks.
(@Us-37) (3 : 2 x 10 = 20)
T - 'H‘ﬁaﬂwﬁﬁ?m?ﬁhv(w-ﬁmsom)lWWZWW%\
Section-B (Marks : 8 x 5 = 40)
e — Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.
(TUE-9) (3T : 8 x 5 = 40)
 mm d A el Ut v & I e (SW-HE 200 v) | YOF Y 8 37
F1 T
Section-C (Marks : 20 x 2 = 40)
, -~ Answer any Iwo questions Oul of four (Answer limit 500 words). Each

question carries 20 marks.
(@UE-H) (3 : 20 x 2 = 40)

w2 @ ST (I 500 ) | G T 20 SF
4

-142 (1) B-256 PTO.



S o e R R R
(g 3 ) Section-B I
()

1 ) What 1s Bank Money 7

[N]

Sw wa ww kO Explain the various methods of Note [ssye in India.

F NG ? s

() Which money includes 1 M1 ? ks et =
M1 & stnty @wd 39 a0 F owm & 3. Meaning and importance of Financial System.

fasfta womeft &1 9d Ud e

(m) Deticit Inflanon

e | 4 Main instruments of Indian Capital Marker.

WA S A F W SeETm

(v} Give nwo causes of Inflanon. hsul S

T T B 9 s ARl 5. Analysis the main features of Indias Monetary Policy
(v)  What is Credit A HiEE A F g A= W v www

T woE 6. Meaning of Internet Banking and Operations
(vi)  Meaning of Fiscal Policy. oz AfEn w1 wd 3 w4

N C I C 7. Write a short note on Retail Banking.
(vii) What is RTGS ? TR H HEET A W e fome
S TE R 8. Restictive function of Reserve Bank
(viii) Mobile Banking frod S % afilm =)
Sferon FfET Section-C
(ix) What is Exchange Rate ? (@us-m)
fafrom = F=E 7 9. Fisher's quanuty theory of money is fight in principles bur defective in practice.
(x)  Whar is Plastic Money ? Discuss.

wfEE W T

BRI-142

B-256

forwm w1z e fagr: 2% € TR § St %) fadem
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10 “Inflaton s unjust and 1s an inexpedient. Two perhaps deflation is the worse.”

[hscuss.

Um eI gy 2 Ad gy ARAT TR ¥ A § geed: g3 AEEd A0

A0 w0 fagsn wrfEm

11 "Bank 1s not merely a source of money but also is an important sense,
manufactures of money.” Discuss.
“SF FaE qE & At #1 AE1 ar Hecd U 99 § q51 @ senes o 317 faeeEa e
12, How do Central Bank Control Credit ? Explain clearly,
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B-258
B.Com. (Part-II) gyamination, 2023

ACCOUNTANCY AND BysINESS STATISTICS
11 P N (rﬁ?}ﬂ ) PTG, GIG L £

Paper -
(Cost Accounting)

Time : 3 Hours ] [ Maximum Marks : 100

(Marks : 2 x 10 = 20)

Section-A
Note -~  Answer all zen questions (Answer limit 50 words). Each question carries
2 marks.
(Guz—) (w2 x 10 = 20)
e - W T A FIW AN (IR 50 wee) | woE WA 2 st E
Section-B (Marks : 8 x 5 = 40)
Note :—  Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.
(Tueg-=) (3f® : 8 x 5 = 40)
e - Wa A fe ute ywl @ S AR (Swedi 200 II7) | YIS UYT 8 3
ol d
Section-C (Marks : 20 x 2 = 40)
Note .~  Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.
(@Us-W) (3 : 20 x 2 = 40)
M- W e Q) ww B I AT (IR-w 500 vree) | TOF Y 20 3F &5
J
BRI-234 (1) B-258 PpTO.



Section- (ix)  Explain two reasons for difference in Profit as

Financial Books per Cost Books ang

(Euzg_ay .
1. (@)  Explain any rwo objects of Cost Accounting, (x) :T'Tl:tﬁj ::uf:ir:n? o R 3 SR Ry
e e # FE QA S TR o e o Narance' 7
o’ w= B ow oS %
(1)  What is the difference between works overhead and works cost ? St\t'tion—B
FREH] AT T FET TW T gm0 2 (aTE_a
(i) What do you mean by Re-order Levye] 7 2. Define the meaning and definition of Cog; A ccounting. Describe briefly var;
o WRY AR Y S T ¥ o methods of ascertainment of cost. ¥ vanous
i ) . AT SR w1 A4 wE qftr e SErE S
(iv) ::;;a;m;gz—z::;;dz ?r::ﬁ?;:;zy;”::;:;:' fafqﬁwgg—qﬁauh@mm F AR g AT TR T AW [ o
3. Classify the following in cost-sheet
(v)  If a worker has produced 144-Umts in place of 120 units in 10 hours, then (i)  Holiday and Leave Pay
find his remuneration according to Emerson Plan. (i) Branch Office Expenses
ofz W o F 10 9vel § 120 SHEE & w@H W 144 59 9% @, A TR (iii) - Royalty
Ao # SER SEE FT A T Fi (iv)  Transfer Fees
(vi) Give four examples of standing charges in relation to the computation of (v)  Drawing Office Expenses
Machine Hour Rate.. (vi)  Audit Fees
o9 guer X # T $ we # O9R fer = $ sew i (vii) Dividend
(vii) Contract price is ¥ 5.00,000, work certified is ¥ 4,00,000 and Notional (viii)) Hospital and Dispensary Expenses.
Profit is ¥ 1,50,000. 80% of the work certified has been received m cash. fFrerfafan ®1 ame-T § FEr B
In this situation calculate the amount of profit which is to be credited to @ R S
Profit and Loss Account. ' , R - ——
stqot 3% 1 feaf § 3 e € 5,00,000 F, ST B X 4,00,000 F¥ st S S

a2 1,50,000 % S wmf et @ 80% TS W@ @ @ &1 T feerfr H .
- @ # #fez fy A e w1 FE F R

. v) T faum ==
(viii) P/V Ratio for the firm is 60%, variable cost of a product is ¥ 3,600, find _ )
(vi) FHw Yo

out its Selling Price. . .
F1 gftedeie @ T 3,600 vid ‘
(viii) sTeqaer qur feeied =@

BRI-234 (3 ) B-258 PTC.

TF HH F A T 60% F ad T T
¥ @ 3 faFa-1 3@ iy
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RN

Sauprevne [ imute:

Fmcrp i e A
famasinec procuc

Maximum

Minimum

Average

Emergency Purchases
Consumpltion
Maximum

Minimum

Average

You are required to calculate

(1) Re-order Quanury
(i)  Re-order Level

(iiiy Minimum stock level
(1v) Maximum stock level

0% Days
14 Davys

Ud Dayg

400 Units Per Day

200
200

Units Per Day
300 Units Per Day

mﬁﬁnwwwmmm%ﬁmmmm?mm
LED' % wF @7 (Uni) % savasar &1 LED F92F F1 alUF smwasa
% 72,000 THTE & 7@ T 2 300 5 g ¥ w9 2021-22 F T FEAA fovron

| YFEE E

BRI-234

72,250

129 wfaad

(4 ) ‘ B-258

FesTs 20 ==
=== ]
s-% 4 ==
Ec i
EEat] 400 =t TS
= 200 Tt 5P
== 300 ==t A=
W T
(i) T FRE W
(i) =TAAE =E
(v) wfuwaa =% =W
5. What do you mean by ‘Machine Hour Rate’ ? Crnitically examune its suitability
for absorption of factory overheads in a labour intensive factory
‘gyiR wue T H AT T OEHA F 7 O 9 WME FREE 3 FREE WeeE 3
sEvimw & {0 THE1 SgE@ w1 S we |
6. Calculate Material Vanances from the following data :
Frefefas faawel & | fa=e 31 Tom FisT -
Materials Standard Actual |
Qty. (kg) | Price @) Q. (kg) | Price ()
A 1000 ’ 200 2150 | 180
B 2000 1170 3850 200
3000 6000
Less : Loss _IE)O_ Less : Loss 700
Output 2700 %
BRI-234 (5 ) B-258 PTO.
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BRI-234 )

) . . “ostin .
What is meant by ‘Operating COStN8 Methog: - In which industries 15 it used ?

s Cost sh,
Prepare a Transport QOperaung €et and discuss the various items included
S >

n it

e s Pt A @ TR D o e o 8 e T
Calculate the amount of Profit 45 per Profit angq Loss Account on the basis of
following informanon

() The profit as per Cost ACOURES Was 2 15,03 opo

(n)  Works overheads were under-recovered i Cost Accounts by T 40,000;

(1)  Admmstranve Expenses were under-recovered in Financial Accounts by

T 15,000:
(iv) Deprecianon charges were under-recovered 1n cost bv T 9500,
(v)  Interest recenved on Imvestments during the year amounting to ¥ 4.950;

_ - P - . .
vi)  Transfer fees amounong ©0 ¥ 1.200 were receved dunng the year in

connection with regszanen of ansfer of shares,
(vi) Provision for Income v made n financial account was T 4.85.000
gy TS ¥ ST T S OE @ PO WY W ¥ ITEeS =

N =Em S ¥ =v 30300

"
v
E
-
=
H
)
d
i
ke

i FRET /AT 77 5

vii %

- ﬂﬁgr:m'w-ﬁ;,f.,)‘;.——?gi?

B-258

Section-C

(Fuz_7)

9 Distinguish between a Cost Sheet and a Production Account. Prepare a Cost

Sheet 1n proper form with 1magimary figures
T F T OE FEA @ S gy weAAw SR F I W o e
T3 1 TA WEY FaR FAC
10, A firm of building contractors began 1o wade on st April, 2021, The following
was expenditure on a contract for 2 65,0p,000
¥10,20,000
3 16.20.000

Maternials

Wages

Plant used for contract 7200000
Other Expenses £ 1.00.000
Cash received on account 31st March, 2022 amounted 0 ¥ 2360000 being
80% of the work certified, of the plant and material charged w© the conmact.
Plant which cost 60,000 and matenal which cost ¥ 50,000 were lost O the 31st
March, 2022 Plant which cost ¥ 40000 was returned o stores the cost of work
done burt uncerufied was ¥ 80,000 and matenals cosang T 36,000 wers 1n hand
on site, charge 13% deprecianon on plant, Reserve 'z of profit receved w0 date

and prepare a contract Account fom the above paruculars

o= Frm 3% T UR TS 3 | R 2021 F SR A EE L 0F = ol

ST $ 1020000
==

¥= X4

31 579, 2022 7% ¢ 25.60,000 7% 77 T F T w57 80 7S

oo @ 3w w6 T f e < 00.000 Fw w3 8000
w1 3] A 2022 ® T 4000 ¥ T E T BN A a2
- AN =R 7"-"“:‘ oS T =& ST
1 = 3 80,000 7w T4 00T IS W W

e e T 9T

BRI-234



Explain Normal Wastage, aAbnormal Wastage and Abnormal Effectives. How

11.
should thsese be delt in process Cost Accounts ?

A= &, sy a7 Ul SR T9 E) qomres | whEa @ntd ol 8 $eR o

ffg g fEa s & 2

The total cost and profit for tWO Periods are as follows :

12.
Period 1 Period I
(%) (X)
Total Cost 90,00,000 1,30,00,000
Profit 10,00,000 20,00,000
Calculate :

(i)  P/V Ratio

(1)  Break-even point

(iii)  Sales required to earn a profit of ¥ 25 00,000
(iv)  Profit at a sale of ¥ 70,00,000

< HaUE F F g wd v T TER §—
Ty 3rafy fgdra srafy

(%) (%)

Eag RSN 90,00,000 1,30,00,000
oY 10,00,000 20,00,000
MO ST

(i) VR ST

(i) wm-faese fag

z 25,00,000 %1 @Y e w0 ¥ fawa w1 i
7 70,00,000 % fawa ™ &1y =1 ufwn

(iii)
(iv)

BRI-234 ( 8 ) B-258



Total No. of Questions : 12 ] [ Tot
al No. of Printed Pa i
ges : 15

B-25%7
B.Com. (Part-II) Examination, 2023
ACCOUNTANCY AND BUSINESS STATISTICS
Paper -1 S (2R~ o
(Taxation-Income Tax Law and Accounts) o

Time © 3 Hours ] [ Maximum Marks : 100
(Marks : 2 x 10 = 20)

Section—A
Note —  Answer all ten questions (Answer limit 50 words). Each question carries
2 marks.
(@ue-3N) (3 : 2 x 10 = 20)
S wf gw @ S e (IW-dE 50 ) | Y& ¥ 2 FF H T
Section-B (Marks : 8 x 5 = 40)
Note — Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.
(TUS-9) (& : 8 x 5 = 40)
qE - mﬁﬁﬁ%ﬁﬁaqﬁéwﬁm(w—mzoowhmwsﬁ
w1
Section-C (Marks : 20 x 2 = 40)
Note — Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.
(@Us-N) (3(@ : 20 x 2 = 40)
G d @t A w & o (SECE 500 vrg) | yeIE T 20 FF H
(]
1) B-257 PTO.
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2225 AL AR ARRS QRSN AASR AR AR IR RRL s

Section. o
A tvii) Compute gross tax hability of to1a] income of a female assestec =
(TUg_y 2 495,000 mcludirg casual mcome of 2 60,000
1 (1) Which Finance ACHS shall be apph(‘ablc for the assessment year 2022-23 7 . l ' F o000 o
’ 702 493,000 7 A FEA FT wigm g w0

= : N e T | 7‘ "7(’ F 'q'q& .
Fy-fosfrm &9 2022-23 * - TE Iy N‘,;m F=m § w7
What will be the amount of dedycgion of tax at source from the payment

(1x)
) - ¢ ~ape of toal mcomy )
(1) Explain the scope of 0 OMe of a non-resident assessee of interest of T 8.000 by a firm during the financial vear 2022.23 2
o st w7 R T 8 R mmm, s = 202223 F W UF 7 gy oprAE A A 28,000 7 2 %
(i) What is Standard Rent ’ afer @ fEa 2 F I
(x)  When and how much has an individual assessee to pay advance tax ?

o = F=TEA FFA A e afym A gE I3 %7

(iv)  What will be the actua! cost of a plant purchased on hire purchase ?
Section-B

(TFrz—a)

(vi  How much profits exempied in respect of newly established units n .
2. Explain the ‘Application of Income’ and ‘Diversion of Income’
special economic zone under Section 10AA ? o . . .
‘I I TE CAE F WE R TR wmagl
ST 10AA § s AT arew 49§ wfyn T wEEE & oA § e
oA = . 3. On the basis of following informaton, compute the gross income from Salary

fer F-gfea famrdt ® 7 of Mr. Chandra Mohan for the assessment year 2022-23 :

{(viy  What do you mean by set off of losses ? (1)  Basic Pay @ ¥ 50,000 per month.

wfad ®1 9fd # ey wm omeEA ¥ 7 (i)  Dearness allowance @ 60% of basic pay.
{vii) Write any four pavments n respect of which the deduction is allowed (1) City compensatory allowance & 8% of basic pay.
under Section 80C (1v)  Medical allowance @ ¥ 2,000 per month.

Children's education allowance @ ¥ 1,200 per month for three childrer

T wT A | T R fafao frad e 9 0 800 F1 FAAT 4 A

B-257 BRI-233 (3 B-257

L (v)

RI-233 (2 )




.+ the hostel ex .
Allowance to meet the 1€ Penditure of two children @ 2 3,500 per

(vi)
child per month.
(vii) Tribal area allowance & ¢ 3,000 per month in Madhya Pradesh
(vii) Conveyance allowance & ¢ 10.000 per month. The whole of the amount

were spent for official duues

(i) Travelling allowance ¥ 240.000, the acrual expenditure was 7 1,60,000

only.
)  Daily allowance 60,000 (spent fully on official dutes.)

ST AH 202223 % forw s == e F 5 WU

T RS S

2
0]
i) TETE T T 5== 5 600
i =T FEos = == 359 3 R0
)
v
Vi) ==e v= T Ll Al i
- — E 7 < = = . A = = T
Tx T= 2240000 === > W) =3 =3 TE
= ¥ cat o . - — WY S
Tz 5= T &) O =7 5 = ,‘;ﬁ?’m-:, 2

BRI-233 C 4 ) B-257

BRI-233 (3 B-257

M/s Radhey Lal & Sons 1s a2 wheat merchant at Kota. They have agencies of

soap and oil companies also, for which they get commission on sales at a fixed
percentage. They do not maintain accounr books. They presented the following
paruculars before the assessing officer for the year ended 31st March, 2022 -
Commission receivable from soap company 2 6,000.

Commission receivable from oil company 18.000.

Compensation for termination of agency by oil company ¥ 25,000

During the year 500 bags of wheat were purchased at ¥ 50.000 of which 400 bags
where sold at ¥ 64,000. Shop expenses 7 26,500

On an examination by the Assessing Officer it was revealed that following items

were included in shop expenses

(1) Expenses of ¥ 4,500 on the marriage of Radhey Lal's Son.

(i) ¥ 2,700 being cost of calendars and diaries.
(11i) % 1,300 are estimated for the repairs for residental house.
(iv)  Entertainment expenses ¥ 2430,

(v)  Penalty of ¥ 2,300 mmposed for brining goods without paying Octron.

1pOse

(V1) An advance of ¥ 2,500 m connection with purchase of 2 rypewnier,
Compute his taxable income under the head ‘Income from Business ard

2022-23

Profession’ for the Assessment Year



BRI-233 (6 )

F5d N T R, F7 H D o BT T man s e e e

i & frd o fawa GO VOUT § TS fre £ 3 fem = et 7

) 5 31 o, 2022 F T T F O Sfirmra 3 St fr v

JER 1

T FEA F o e < 6,000

&= wA & W e 18,0001

Fo w § G awe @ o S B af 225,000

=9 F 7 F 500 A T 50,000 § @O R | 400 AifEt 7 64,000 F 59 G 0ogEE

=E T 26,5001

FreTor sfaFTa g ST f5Y 9 W 96 83 fF gwm =d § feafafaa ofvel afefoad
(1) TYETE % wew & faaw W EA TE s % 4,500

() Foved @w TEfE F oArE T02,70010

(iny  FreEeh wwm ¥ 909E ¥ sAnaa =99 01,3000

(iv) FAReE =9 ¥ 24501

(vy o g SwT@ =W AR W osdevg T 2,300

(Vi) EETTEER wEER ¥ OSUs 9w 22,5001
2022-23wﬁWW%ﬁv?mﬁW@&§gaﬁmq'vﬁﬁT% JATd F-ATF

B-257

e L R M R T TR TR T
5.

Mr Tarun transfers the following assets during the previous year 2021-22

o1 wEM A T AG 2021-22 F E0E efetmy wmteEl eaeim w5

Goodwil| Tenancy Trade Land

rights Mark
Cost of acquisition 20.000 — — 40,000
FM.V. on 1-4-2001 50,000 80,000 60,000 1,00,000
Sale consideranon 2.27,000 2,50,000 4.00,000 11,33,000

Compute the amount of capital gain chargeable in the hands of Mr Tarun for

the assessment year 2022-23.

- fautmm ad 2022-23 % U 5w g ww A g A ovm wem

6.7 What do you mean by converted property > Who 15 assessed in respect of

income of such property ?

ofrafda w1 & A #0179 A 0 T wemta = AE F a9 § - e G

o fFa <@ § 2

7. What do you mean by a complete parnion and a partial partinon of an H UF

feg sfawfaa ofram % 10 v v fAasE 9 s s guem ¢ 0
8. Profit and Loss Account of M/s Ram Lal Shvam Lal for the year ending March

31, 2022 is as follows :

31 =, 2022 ¥ € @ A6 F 0 T s yaymee w6 @ o

THFE T :

BRI-233 B-257 PTO



”””"r‘\x
e S n g k4 (i) 20 ¥7E, 2021 1 wH A T "
- - d 9202021 # fawa w wfas
Cost of goods sold 14,50,000 Sales 24.00.000 wfw # A W E qem s) T tom
.00, T J M-zfy =@ H W T o
R . ar s 6,50,00 -
emuneration (o partners 0 | Rent of house property 60,000 (i) T S 2020-21 & X 60,000 F wyafrr wfa W o W ¥
Interest to partners @ 20% Interest of Govt. HTTI-40(b) F T FIA A TN F o ifaw
il '
on capital 90,000 | securities
70,000 Secti
on—-C
Municipal tax of house Net Agricultural Income | 20,000 (Fvg_m)
rope 6,000 i
property 9. How is residence of assessees determied for income-tax purpose ? Explain th
? e
Other expenses 2,70,000 relationship between residence and tax liability. v
Net Profit 84,000 e - S o b ww freife fm g e
25,50,000 25,50,000 TEIRE = T =

Other informations are as under : 10. Write bnief notes in respect of the following :
()  Out of other expenses, ¥ 75,000 is not deductible under Section 36, 37(1) (i)  Standard deduction from the annual value of House-properry.

and 43 B. (i)  Unrealised rent
(i) On 20th July, 2021 the fim pays an outstanding sales-tax liability of (iii) Deduction in respect of interest.

7 6,000 of the previous year 2020-21 and debited to P and L account. (iv) Recovery of unrealised rent of a period prior to the previous year.

(iii) Brought forward business loss from the previous year 2020-21 is ¥ 60,000. Frefafea & T= & Sfya frarm e

Compute the remuneration deducatible under Section 40(b). (i) wwA W w anes 9 i 3y o2
amqamviﬁrﬁrﬁ—lﬁﬂﬂm% () A =g« g fww
() = T T 75,000 % am-36, w-37(1) T Hm-43 B F I wd (i) == ® gy d w0

4 7E % (iv) maﬁﬁg&ﬁaﬂ*“wgwiﬁmﬁmﬁi

3RI-233 (8 ) B-257 BRI-233 92 B-257 ®



11 Dr Chawla is the retired Professor of the Department of Philosophy in Rajasthan

University. He is also @ member of Parliamen; The particulars of his income for

the financial year 2021-22 are as follows -

Salary received as @ member of Parliament 3 15,000 p.m.

v}
(i) Daily allowance for attending the session of Parliament ¥ 24,000.
(iii)  Income from the articles published in the Indian Magazines and Periodicals
7 2,800.
(iv) Remuneration received for the lectures delivered in Management Institute
T 800.
(v)  Remuneration received for working as an Examiner of various universities
and Insttutions T 6,800.
(vi) He is an Auvthor of many books. He received Royalty of ¥ 22,500 during

the previous year in the month of June. He claims the following deductions

out of this income.

fa)  Salary of a clerk ¥ 1.200.

(b)  Books purchased for revising the books ¥ 1.400.

¢; Telephone Expenses in connection with the Printing and Sale of the
book T 700.

He has fixed deposits of 7 4,00,000 in the State Bank of India. He received

2 34000 op st May, 2021 as interest of such deposits

3Rl"233 ( 10 ) B-257

R A P R A R e R A A

(vii) He earned T 15,000 1n January, 2022 from the Rajasthan State Lot Ties.

(1x)

2REHREHD

He had spent ¥ 800 durnng the preyioys year on the Purchase of Lottery

Ticket of the various States.

He got an Income of Z 14,000 frop, agricultural 1and in Japan and ¥ 4 800
from another agricultural land in Sri Gangangar (Rajasthan). The land in
Sni Ganganagar 1s not attacheqd with any house and was let out for the
purpose of arranging the marke; therein. He spent ¥ 2,600 in connection

with these incomes.
His other incomes are -

(@)  Interest received on the Bonds of the Government of Germany

% 1,100.
()  Winning from Chess game ¥ 1,200.
(©)  Winning from Card games and betting T 1,800

(@ 5 yr. N.S.C. VIIIth issue for the nomunal value of ¥ 10.000 were

purchased on Ist August, 2017 the interest @ 8.3% p.a. cumulative
with 6 monthly rest is received on maturity but for the purpose of

Income Tax it is deemed 0 accrue every year. Interest of 7 100 for

fourth year will be taken 2 9.77.

,
G)
~—

value of ¥ 10,000 2 7> pa

(f)  Received interest on

210,000 @ 10% pa

BRI-233 (1o B-257

Received interest on 10 vear Capital Investment Bonds for a nominal

vear Relief Bonds for a rommal value of

PTO.



joton IstJuly 202y g0 o
(xi) He purchased 3 P St constructing a house for mimself

(vit)) T, 2022 B TF e e

R ing busv he .
On account of remainife 1€ could not get the house constructed

2022 he let (x)  STE E T 9RO 2 g0

e

’ 4 E S ST (TEETE R omn ot
Ut this land on a monthly rent of % 400 g g Ao FE g

Hence on 1st Januark.

-7 30.000 { o T A T 4,800 1 T ufs s 2 mh o S T A TR e e
(xii) He received a gift of T 30000 from 3 ieng (0 st August, 2021 and an Y R s E M IR S =

¢ 5.000 fro ; :T»"i.'TfTiIW'F'I?T?,.‘?:,‘\v. o == Y ANV T s
another gift of T 23,000 f1OM Other frieng on 14 September, 2021 o T E s g more € 3 T 2600 5= s
Ascertain the taxable income of Pr Chawla under e head ‘Income from Other x) TR A= A et g

oar 2022- .. S
Sources’ for the assessment vear 2022-23. (F) TR TET F TR T 3 w7 1,100

<. = e fevataaed 3 T ﬁvm%mmmm%léﬁmm () R F EmE Ay,
“w".aﬁzozl-zzs‘ﬁu’mfamzm‘faamﬁwﬁvﬁ@am;: _ . o
T : (®) 7 % B\ v v Ay goo
() ¥uT me= ® w9 § 9w ¥4 T 15,000 wfy e

(=) 10,000 57 773 % 5 =5 i =7=7 ¥EI-T3 (VI ) 1 s
i g F A 4 sofEd @ W A s 2 24,000 - N .
W= ’ 2017?7374%&@@'5‘-:7?«3Ssﬁffaa’m;’:zvf:‘;faz;m

ST HRATE TE-TARIS F g . o )
(i) =@ F g W B % 2,800 F ST T T < A A e s

(v) e Teiege § e 3 W w it 3 800 I % o s ww g e s % = w Wt 100 = s

) ﬁfwfﬁwﬁmﬁ@ﬁwaﬁ%nﬁ%%wﬁmmﬁaﬁm?é,som 2 9.77 TEn s

) =% gt Fim o H S e e 2 22,500 et % (3) ?10,000%@%10%%%3‘\%}1@?%?&%%

B F1 ¥ T A § A FATA HT AT FE € R . .
B iR ¢ F W AW WE T

R it i

() s fAfeF 51 397 7 . . " A
’ S (1) %10,000 % 571 % 5 7913 T=d A=m W 10% vHvE 5 oo

5
i
i
-
K

(7) 1 % e F g qEe F4 F T 1,400 R
) TREEF WA % ey § e 54 S

(%) T % fa37 3 wop § qon 7 G oA § W § Teien

(1) 1 AR, 2021 F1 3R =E FAFA TGS F o wwie wwd w9 § =
2700 | ~
F F F TEE TE A G5 | T 1SS, 2022 51 77 995 7 400 56 5%

%ﬂ'q w33 I
BRI-233

NS TS W

(Vi) 3% == FE e § wors sy e @ € 4,00,000 59 F0 Y F) 3w
ﬂmlﬁ??‘flw’:‘,Zf)Zl%1(34,000W%W@l
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*‘l

© e 0] A U AT 30
px | st 2020 W 0.000 %1 3uer faen qen | faerm, 2021 i v 3 ma A 2021 22 % fer

25,000 1 IUER fiygy

(x11) .
AN gy oo a1 A fean faiatiadina famry Fi

# qut iy u o
¢ e 202223 % fem e, |

el e VAN § s vivdE H w A

RICEEA IS o
(1) AT H WL AT ATT (HT A g . -

R FA g . ( 29 6t y

s submiied following particy 2 744120 ) 61,000

12, Shri Shyam h ars of his incomes and expenses for

s () wEr FEfa & e 120,000
the previous year 202122 o
(lu)  TTOEE EEm A sy 5.70,000
T
‘ o (iv)  1-1-2002 = =enfoa evq 32m 5 o )
Q] Taxable income from salary (Tax deducted % 7,44,120) 29.60,000 ™ 16.80,000
)  Droper 2] St i & e 254800
() Rent received from housc property 1,20,000 B |
_ (vi) @l | ST (9%), AT 2022 3
(m) Income from business of poultry farm 5,70,000 A e
(vi) & Ffa s 00,00(
(iv)  Profit from small scale industry established on 1-1-2002 16,80,000 HOn.Ono
IXA A WL AT s 8 7 Freafafen qram fEa £
v) Dividend from foreign company 25,800 ’
(a) FAfHa X & S A gifes @ difars 16,000
(vi)  Winning from lottery (NET) in January, 2022 63,000 oo
(b) wEStTFR afaer fafa § s oFm 77,000
(vi1) Net agricultural income 1,00,000
v _ () TEE aEd 9 = 65,000
He paid the following amounts out of his taxable income :
) ) d) wfya fum #r Strem " offen o dfaay 14,000
(a) Life insurance premium on policy on independent son 16,000
AT ITgE I @ w P A 2022-23 % fera 3w g w1 Am A v IG
()  Deposited in Public Provident Fund (P.P.F) 77,000 . ’ :
F1 Zfrea @ w1 AT §FE F )
(c)  Purchased Natonal Saving Certificate (N.S.C.) 65,000
(d) Life insurance premium on policy of dependent father 14,000

Your are required to find out tota] taxable income and net tax liability of  this

assessee for the assessment vear 2022-23 under old tax regime.

BRI-233 B-257  BRI-233 (15 ) B-257
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Total No. of Questions : 13 ] [ Total No. of Printed Pages . 8

B-255

B.Com. (Part-II) Examination, 2023

ECONOMIC ADMINISTRATION AND
FINANCIAL MANAGEMENT

Paper - 1 Boa AT TipIeT?
Time : 3 Hours | [ Maximum Marks = 100
Section-A (Marks : 2 x 10 = 20)
Note -~  Answer all ten questions (Answer limit 50 words). Each question carries
2 marks.
(Tue-3) (31F : 2 x 10 = 20)
e - Wl TW Y F I AN (Sm-dm 50 v) | TS TE 2 5 w5 3
Section-B (Marks : 8 x 5 = 40)
Note '~  Answer any five questions out of eight (Answer limit 200 words). Each
question carries 8 marks.
(gue-=) (37 : 8 x 5 = 40)
ME - e A P fFH ww WA F W e (Sw-E 200 ) | e T 8 st
ol
Section-C (Marks : 20 x 2 = 40)
Note :—  Answer any rwo questions out of four (Answer limit 500 words). Each
question carries 20 marks.
’ (gue-u) (31% : 20 x 2 = 40)
qZ - WA | R @ owdl & I I (ST-E 500 vi) | vl W 20 sE
4

BRI-141 (1 B-255 PTO.




Section-A A IR ——_——
(i) A hat Snadjusied Rawe of Bemprn
(TATE 21y
1 1) Give two limitauons of Financial Management
(x)  What 15 Walter's Formula
farsn A Ay wEnd w2 F A
qyery EiEI 7
(1i)  Wnte the difference between Profit and Loss Account and Balance Sheet
. Section-B
=y -7fs @ a7 8 77 TN
fepra g1
(iny How to calculate the amount of fund from Operations ?
2 What 1s Current Rato 7
afrarem | M # T w7 R w7
= AAAA #F A E 7
(iv) What do you mean by Cash Flow Statement ?
R 3 Calculate Cash Flow from the following informanon
#Fz g faaro & w9 A AHEa €7 g infor
(v)  What are the advantages of Financial Forecasung ?
fasin e % A E Opening Balance ()  Closing Balance (%)
. . . . 9 Machinery (at cosi) 1,00,000 110 0G0
- (vi)  What are the objectives of Working Capital Management ? 110 060
F igier 4o 2 sva w0 E 2 Accumulated Depreciation 25,000 30 600

During the vear, 2 machmery costing T 20,000 with accumulated deprecanon

(vii) What are the terms of Credit ?
T 12,000 was sold for ¥ 12,000

@ ¥ v & A g 7

adi;eﬁm@m%-_ﬁimﬁfm.wﬁﬂmwmm?12000% .

(viii) What are the Total Cost of Inventory ’
= F T T A ) A

RI-141 (2 ) B-255 BRI-141 {



4 PV Rano = 20%
Fixed Cost = ¥ 5,000
Calculate Break-Even Point.
Y F{EE = 20%
fer @A = T 5,000
T=-fr=x fag =1 Tom sifsw
5. Explain EOQ.
AT =W H A H GHFEL
6. Describe the determinants of Dividend Policy.

=Y A % AuRE-am w1 99 Hifea)

~J

A machine costing ¥ 10,000 (accumulated depreciation ¥ 6,000) 1s sold for
¥ 2,500. The opening and closing balance in machinery account are ¥ 2,45,000
and T 2,65,000 respectively. Depreciation Provision Account (i.e., accumulated
depreciation A/c) had ¥ 65,000 as opening balance and ¥ 85,000 as closing
balance.

Determine the amount of funds used for the purchase of machinery.

= i TR @ % 10,000 (S g T 6,000) ¥, TR T 2,500 F A @ %)
I A F IE 3 5 v gy 7 2.45,000 791  2,65,000 ¥ &R &M @
(s "3 &9 AN) 7 i g 7 65,000 @91 S W9 T 85,000 @1

Wﬂﬁmqwmw'ﬁﬂﬂ o 1

BRI-141

(4 ) B-255

Ravi Lid has 1o make a chnice betveen two dentical machines,

capacity ‘A’ and ‘B’ They have been designed differendy.

aTiie
10b. Machine “A’ cost ¥ 750000 anl vt 1act for three years. It costs ¥ 2,09 (o
per year to run. Machine ‘B’ 1s an economy model costing only 2 s o LU0 b

er ¥€ar 1o run The

will last for only two years It casi 7 3,00,000 p

Ca

machine ‘A’ and ‘B’ are rea! cash floy- The costs are forecasted \r

constant purchasing power Ignore iy The OPPOTTUNILY COSt of capiial i 107

al 15

You are required 1o advise which machine o compary shonld buy -

The present value (PV) factors at 10% are

Year T, T, T,

PVIF 0 9099 08264 7513

M feifazs =1 vF =om amm s 5w A qa B

=9 | fu= # e vm mum w0 e s

1] FOOSYTA A ET AR ) 50 40

F FN | wfe 79 gireem ans 200000 ' mvs B oo LR R P .

T R 50,00,000 ¥ T A 7w w0 w0 i wfree 2300 000

f= a0 R 3 S S N .
" A’ 991 ‘B’ =1 TTHE T TANF F I a3 TR F GAASH 7TG ¥ o

A | W fFm o e s T ovns

qaw Afwu 5 g fas qgm #0007

10% % =5 gea s 7 -
ad T, T, 1,
PVIF @ 0051 0.8264

07513

BRI-141 { 5




Gieve names of task and responsibilities of Modern Finance Manager
g Manag

v smyfam fre wARE A wrll st e It pe—

Section-¢
(TIrg )
From the following mformation,

extracted f
ed from the book of manufacturing

company, compute the operational cycle perigg and working capital required -
« iy .

o ol wer w1 qEet v owra et TN A frarer o s A s
Fravita A &t o e

Period covered

365 days
Svg penod allowed by suppliers 16 days
)
Avg total of debtors outstanding 48,000
Raw matenal consumption 4,40,000
Toal production Cost 10,00,000
Total Cost of Sales 10,350,000
Sales for the Year 16,00,000
Vaiu orag b mainiained
Raw Martenal 32,000
Work-in-pr Igress 35 000
Finished Goods 26,000

BRI-141

1i

12.

13.

From the following information make ut a Balance Sheet as on 31:t Maren

2022 of Gehlor frd .

Frefefaa g & meem fefars @1 31 g4, 9022 #1 fag m Ffam .

Revenue from Operation

7 26,00,000
Total Assets Turn-over 3 Times
Property, Plant and Equipment/Fixed Assets Turn-over 5 Times
Current Assets Turn-over 7.5 Tumes
Inventory Turn-over 20 Times
Trade Recewables/Debtors Turn-over 1.5 Times
Total Assets/Net worth 2.5
Debt Equity Ratio 1:1
Current Ratio 2:1

‘What is a Cash Flow Statement ? How 13 1t prepared ? Describe its main uses.
T3 waE fawww Fm ¥ 2 aw fEw wwn E TEw s ¥ 7 e v Ieenh w5 S
Eaisrd]

From the information given ahead, calculate Inventory Rato for management
contro! for the year 2022 :

4 2022 § fou wEw frdaw ¥ NTES A N W serd w1 v #0E

T S e R i o

Bk R

[ G e o

S A S s 3
- ek



Company A Company B

(4] )
Materials 1 hand on 1.1.2022 5,000 17,500
Materiai purchased during the year 38,000 25,000
Material in hand on 31.12.2022 3,000 12,500

Additional Information

) Totwal Cost of Production for A = ¥ 1,00,000,

n

Totai Cost of Production for B = 2 75000
(u)  Cost of siow moving stores :
Avg. cost of slow moving stores for A = T 500
Avg. cost of slow moving stores for B = ¥ 5,000
(ni} Standard inventory turnover ratio = 4 : |
Ffafer g -
() A # fog ST | F@ @@ = ¥ 1,00,000
B & fou I & |a @ = T 75,000
(i) = gfam BR H A
A & fou =0 Hqfan € #t dma @m = T 500
B & fau =it qfim ®Rr #t siwa @ = T 5,000

(i) HH® Y TAAE IR = 4 - |

BRi-141 ( 8 ) B-255



Roll Nao

Total Noo of Questnons - 12] [ Total No. of Printed Pages : 4

B-253
B.Com. (Part-II) Examination, 2023
BUSINESS MANAGEMENT |
Paper - [ 3 (100 A, e
(Company Law)

Time - 3 Hours ] [ Maximum Marks : 100

(Marks : 2 x 10 = 20)

Section-A
Nore —  Answer all ren questions (Answer limit 50 words). Each question carries
2 marks.
(Tug-a)) (3 : 2 x 10 = 20)
> _ gt 7@ Y & IW A (IW-T 50 IE) | TAF T 2 IFF AR
Section-B (Marks : 8 x 5 = 40)
se — Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.
(TUe-|) (3 : 8 x 5 = 40)
g d @ e gl Yy @ W A (ST 200 ) | YT&AF I 8 IF
cal
Section—C (Marks : 20 x 2 = 40)
- Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.
(@ueE-u) (37 : 20 x 2 = 40)

L AR e @ A & I AT (SR-E 500 ) | YeE T 20 3F
]

-80 ) B-253 PTO.




(1)

(i11)

()

4]

(vi)

(vii)

(viii)

(i)

Section-A
(@Us—ay)
Write the meaning of Holding Company.
T weA & o e
Write names of documents to be delivered to the Registrar of Companies

for Incorporation of a Company.

wor % w AR R e A e § e
What do you mean by Stock ?

== § a9 A wnEd § 2

Whether a foreigner can become member of any Indian Company ?
w0 FE faReh BRE YA FEA H GEH & FHa € 7

Write any rwo Rights of Directors.

dur ® FE & AHEd F fafaw

Who is a Liquidator ?

frears ®F @ ¥ 2

Mention any rwo professional qualities of a Company Secretary.
e e @ v i @ sed B

In which company full time secretary is mandatory ?
o TR T FT gl g S A S §
Define the Minutes of Meeting.

QY F FE/FHT H afiyfyg e

B-253

BRI-80 (2 )

(x)  Mention the types of Class Meetings
T A B FEN AFA mE0
Section-B
(FTz—=)
Explain the habilities of Promoters

TR ® enagdl F AR Few)

Mention the distinction between Share Certificate and Share Wa
HY YHO-UF AR AW AU § = sfww wiew
Explain the provisions of Companies Act regarding appomntment of Directors i
Indian Companies.
RdE A F e B g g w5 s Oy w1 e
RIS |
Discuss the position of a company secretary in a company
TF FEA § FA gfae @ fefd w1 =T wiew)
Mention essential important informauons of Directors” Report.
T F ROR § seor@ @ 9H A TES(Y SWHE s S0
What are the various methods for appointment of the Chairman of a meetin
T F mmy T FrfE e # e AR E
What is the Doctrine of Constructive Notice ?

T g e #E

BRI-80 €3 B



10.

11

12.

Section C

(Avg W)
What is a Private Company 7 State the privileges and exemptions enjoyed by a
private company.
fasf Foy @ & 2 us fash Forl & W favm sfuad] A el A
What do you understand by Voluntary Winding-up ? Describe the clireumstances
and effects of voluntary winding-up.
Ufesd gEA J Y # qued & 2w & Ufsww g 4 ufifeerfan ERR I
F1 U HIfAT |
What is a Statutory Meeting ? What are the legal provisions regarding statutory
meeting ?
Surfye @ F % 2 A ww R TG A A S
Describe the various legal provisions of Company Act under which share capital
of a company can be reduced.

ﬁmqﬁﬁﬁﬁ%ﬁéuﬁmwmaﬁmamﬁﬁmm|
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